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2.21, 2.2, 2.34, 2.64, 2.65, 2.66 and 2.67.
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then

me that the probability of any subinterval I of [~1,8] is proportional to its length,

P[I] = k length ().

If we let I = [~1,2] then we must have that

1= P[S] = P13 = & length ([-1,3]) =2% = & =_§.

a) ElA]=2 Fogthi=1,0)) :éu):%

P[B] = 5 length ((~0.5,1))

Plel=3 length (. A=

PlANB] =

PlANC] = %[ A
b) PAUB = Pl #ip Fhgh( F1,0) = 5

PlAuC] =31 length (AUC)

4693

PAUBUC] =P[§]=1

Now use axioms and corollaries:

Pl4UB] = P[-1]+P[B] P[ANB] by Cor. 5

it v
PAYC] = P[4]+ P[O) - P o :§+1§:§—

by Cor. 5

P[AUBUC] = P[4]+ P[B]+ P(C]

—P[AN B]— PIANC] - PBNC]

+P[ANBNC] by Eq. (2.7)
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@) The sample space in tossing a dic is § = {1,2,3,4,5,6}. Let p; = P[{i}] = p since
all faces are equally likely. By Axiom 1
1 = Pl§]
P{1}u{2tu{3}u{4}u{s}u{e}]

The elementary events {i} are mutually exclusive so by Corollary 4:

l=pi+p+.. . +pp=bp=p=p=glori=1...,6
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